NOT INCLUDED IN MTV-FS1T

FSTHW-L: comprised of FSTH-A and FSTJ-A @@ Hardware set for FSHBA:

FSHNW:
comprised of
comprised of | and
FSHPW:
comprised of
| FoA-Aand FSHP-A MYE ENTERTAINMENT
. MONITOR STAND
/: @ (12/)41 é?bozlto x 5/8 machine bolts. Thread is only on the first
I[:FSST-|\'I\>JUL] . (2) 1/47-20 flat washers for 1/4”-20 with OD 9/16” min.
(6) 1/4-20 Belleville (cupped) washers for with OD 9/16”.
Probably should be metal thickness .032”, with total overall
height uncompressed of about 0.05” o
@ (2)| 1/4” - 20| lelon I)ock nuts (the metal nuts with locking . “ FLOOR STAN D U PRIG HT/TALL”
nylon internal sleeve), . HARDWARE
@ (6) “special washers” - these are stamped spring steel R L .
Evgsé??gsa ;b%’oo%w” thick. They fit 1/4” - 20, and should Pan Head Phillips Machine Screws
i ' @ 1/4-20 x 1/4” SHCS (6) req
MTV-ES1 t O 1 I e e— A
@ | “BASE 30.5/37.5 INCH
[MTV-FS1T] - | HARDWARE
FSTVL | Socket Head Cap Screws
| @ 1/4-20x1/4” (2) req
| () 1/4-20x7/8” (4) req
| @ 1/4-20 x 2-3/4” (2) req
i (® 1/4-20 x 1-3/8” (2) req
—————— _i i—'— ''''''''''''''''''''''''''''''''' —i : Pan Head Phillips Machine Screws
FSBCCC305 i i FSB305W: - (® 1/4-20x5/8” (4) req
M I U' FSB'305 [FSBCCC375] . - consists of FSBVT-A and FSBC305A | | @ #8-32x1” (2) req
(2 REQ. | | [FSB375W: i i
[M [V- FSB'375] | | consists of FSBVT-A and FSBC375A] i i
| |
| |
FSBPSB

FSBCCE305
[FSBCCE375]

FSBF (2 REQ.)

(2 REQ.)

200.28.08CE



